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import sys
sys.path.append("statlib")
from multi import cor

cor(x, y=None, method="pearson", verbose=True)
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import sys
sys.path.append("statlib™)
from multi import cor

a = cor(x)

Pearson's correlation coefficients
1.000 -0.491 -0.235 0.416
-0.491 1.000 0.064 -0.393
-0.235 0.064 1.000 0.243
0.416 -0.393 0.243 1.000

a = cor(x, method="Spearman")

Spearman's correlation coefficients
1.000 -0.872 -0.158 0.462

-0.872 1.000 -0.051 -0.400

-0.158 -0.051 1.000 0.308
0.462 -0.400 0.308 1.000

a = cor(x, method="Kendall'")

Kendall's correlation coefficients
1.000 -0.738 -0.222 0.316
-0.738 1.000 -0.105 -0.400
-0.222 -0.105 1.000 0.316
0.316 -0.400 0.316 1.000

a = cor([1, 2, 3, 4, 5], [4, 3, 2, 6, 4])

Pearson's correlation coefficient = 0.320

a = cor([1, 2, 3, 4, 5], [4, 3, 2, 6, 4], method="Spearman")

Spearman's correlation coefficient = 0.308

a = cor([1l, 2, 3, 4, 51, [4, 3, 2, 6, 4], method="Kendall")

Kendall's correlation coefficient = 0.105




